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SECOND YEAR HIGHER SECONDARY MODEL EXAMINATION,
FEBRUARY 2019
(Part - 111)
CHEMISTRY

Maximum : 60 Scores
Time : 2 Hours
Cool-off Time : 15 Minutes

@neral Instructions to Candidates : )

* There is a ‘Cool off time’ of 15 minutes in addition to the writing time of 2 hrs.

* You are not allowed to write your answers nor to discuss anything with others during
the ‘cool off time".

* Use the ‘Cool off time’ to get familiar with questions and to plan your answers.
* Read questions carefully before answering.
* All questions are compulsory and only internal choice is allowed.

» When you select a question, all the sub-questions must be answered from the same
question itself.

* Calculations, figures and graphs should be shown in the answer sheet itself.
* Malayalam version of the questions is also provided.
* Give equations wherever necessary.

« Electronic devices except non programmable calculators are not allowed in the
Examination Hall.
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Score

Questions from 1 -7 carry one score each,

answer all the questions. (7x1=7)

1. Which of the following is an example
for ideal solution ?

a) Phenol + aniline
b) Ethanol + acetone
¢) Acetone + chloroform

d) Benzene + toluene

2. Identify the ore of zinc from the
following :

a) Siderite
b) Malachite
c¢) Haematite

d) Calamine

3. Write the ‘Spin-only’ formula used to
calculate the magnetic moment.

4. Give an example for a hexadentate
ligand.

0
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What is the chemical name of aspirin ?

Which synthetic zeolite is used for

converting alcohol to gasoline ?

What are the main constituents of
dettol ?

Questions 8 — 20 carry two score each.

Answer any ten questions.  (10x2=20)

8. Write any two differences between

10.

crystalline and amorphous solids.

. A compound with cubic structure is

made of elements X and Y. X atoms are
at the corners of the cube and Y atoms
are at the body centre. Write the simplest
formula of the compound.

When a zinc electrode (zn(s)/zn*, )
combines with SH e at 298K and forms
a galvenic cell. E°cell is found to be,
0.76 V. Write cell representation of the

cell and calculate the standard electrode

potential of the zinc electrode.
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12.

13.

14.

15.

16.

Score

How many coulombs of electricity are
required to produce 40 g of A/ from A/**

solution ?

What is chemical kinetics ? Give any

one importance of it ?

Explain homogeneous catalysis with one

example.

Explain Mond process.

PH, has lower boiling point than NH,,
why ?

Silver atom has completely filled ‘d’ orbitals
(4 d'") in its ground state. Why it is

considered as a transition metal ?

17. Actinoid contraction is greater than

Lanthanoid contraction. Account for it ?

18. Draw the cis and trans isomers of

[CoCl,(en),]' ?

19. What is ‘DIBAL - II' ? Give one

importance of it ?
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14.

15.

16.

17.

18.

19.
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20. Write the correct order of basic character
of following amines is, a) Gas phase and

b) in aqueous solution,

CII, NH,, (CH,),NH, (CH,),N.

Questions from 21 - 29 carry three score

each. Answer any seven questions.
(7x3=21)

21. Write any three applications of Henry’s
law.

22. Activity and selectivity are the two
important terms used in catalysis.
Explain these terms with suitable

examples.

23. a) Wnrite the formula for the following

coordination compounds.

1) Tetra ammine aquachlorido cobalt
(II1) chloride

i1) Potassium tetrahydroxidozincate (II)

b) Writethe [IUPAC names of the given
coordination compound K[Co(SCN),]

24. Explain the S ' mechanism with suitable

example.

Score
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21. eandd doacmlod agemsiege aymm
(I0CROUIH> DAIGRINERUD ag)FYDYSs.

22. @ogald,emealdagmiaotis oo

9alEROIUIIBHNM (AIWIM aIBEUBRIEM. €D

136U HBIOEMMaciao ANRGBIHE)E:.

23. a) 2ues ®MILEs HalMIOCWIRE:

CPUORSMETRENEIS (NUJNLIIBI0 gy FATYE:.

1) esiso @rdlad @oexpeg;Alewd
e06nu00ds (111) egaanna

11) ©a1950MVJ0 HSISINNANBIWIKIGWD
S (IT)

b) mMIgEEMIcEOLE: MoRismed
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25. Complete the following :

26.

27.

28.

29.

OH
a) @ dilHNO;

OH

conc. HNO,
b) —_—
conc. H,SO,

OH
c) @ +zml

Write any three methods for the preparation
of ethanamine (C,H,—NH,).

Write the important structural and
functional differences between DNA
and RNA.

a) Name two synthetic polypeptide
fibers.

b) Indicate the monomers in each.

Explain the therapeutic action of the

following :
a) Antacids
b) Analgesics

¢) Antibiotics

25.

26.

27.

28.

29.
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Questions 30 — 33 carry four score
each. Answer any three questions.
(3%4=12)

30. a) Explain pseudo first order reaction

with an example.

b) A first order reaction has a rate
constant 1.15 x 10-* S-'. How long
will 5g of this reactant take to

reduce to3g ?

31. a) Why does ozone act as a powerfull

oxidising agent ?

b) How is O, estimated quantitatively ?

32. a) Explain the reason for the less
reactivity of chlorobenzene than
alkylchloride ?

b) Identify the major product formed
by the reaction of 2-bromobutane
with alcoholic KOH. Give reason

for it.

33. Explain the following reactions
a) Aldol condensation

b) HVZ reaction

Score
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